NORDIK  5iicvice
100

INCLUDED :

3 ADAPTER BLADES 3/4” X 6” X 44”

3 STEEL CLAMP BARS 1/2” X 4” X 44”
11 CARBIDE BLADES «NORDIK MOVE»
22 SCRAPER BOLT 5/8” X 2 1/2”

22 HEXAGONAL BOLTS 5/8” X 3 1/2”
44 STOVER LOCK NUTS 5/8”

SPECIFICATIONS:

MADE IN STEEL 1020 AND RUBBER DURO RESISTANT TO -57°C (-70°F)
VIRGIN CARBIDE INSERT «GBN» DESIGN

HARDNESS OF CARBIDE MIN. 88 TO 89 ROCKWELL “A”

TRANSVERSE RUPTURE STRENGTH 351 000 PSI

HIGH QUALITY BRAZING SHEAR STRENGTH 102 000 PSI

INSTALLATION :

1. INSTALL THE ADAPTER BLADES (WITH SCRAPER BOLTS 5/8” X 2 1/2”
AND NUTS 5/8”)

2. INSTALL CARBIDE BLADES AND STEEL CLAMP BARS
(WITH HEXAGONAL BOLTS 5/8” X 3 1/2” AND STOVER LOCK NUTS 5/8”)

Dot |

www.nordikblades.com



NORDIK 5o
100

INSTALLATION:

ADAPTER BLADE SCRAPER BOLT
5/8" X 2 1/2"

STEEL CLAMP
BOLT

Y \ HEXAGONAL BOLT

STOVER LOCK _uwee
NUT 5/8” s

b ) 5/8” X 3 1/2"

CARBIDE AND RUBBER BLADES
“‘NORDIK MOVE”

www.nordikblades.com



